Teorema di Pitagora

Fiala A Fila B
1 | L'ipotenusa- equivalenti - quadrati 3 1 C 3
2 A 3 2 B 3
3 A 3 3 D 3
4 B 3 4 A 3
5 D 3 5 A 3
6 A 3 6 D 3
7 A 3 7 D 3
8 D 3 8 D 3
9 A 3 9 A 3
10 B 3 10 A 3
11 A 3 11 B 3
12 D 3 12 C 3
13 50 3 13 39 3
14 A-O-A-R-R-R-A 2x7 | 14 O-R-0O0-R-A-R-0O 2X1
c=192 - b=16,2 - a=178 b=19 - a=143 - c=29
15 ! ! ! 2x5 15 ! 2x5
c=113 - c=384 c=76 - b=30,7
16 \4,5% -1,2% =,/20,25-1,44 = . 16 VB2 +112 =25 +121 = 5
=,/18,81 =4,3m =146 =12m
A=21X68 _ o2 2 , AC =53 - 457 =\2809-2025 = |
2 \/—
=784 =28cm
AB =+51% + 682 =+/2601 + 4624 =
17 5 17 A= BCxAC _ 45x28 _ 630cm? 2
=+/7225 =85¢cm T2 T Tovem
2xA _2x1734 3 2xA _2x630 3
CH= =40,8 CH= =23,8
AB 85 oem AB 53 cm
2x300 2
(AB+DC) = =40cm (AB+DC)-2X462 — 44em 2
_40 - _ _40 . _ 2+2
y AB-EX7-28cm DC-EX3—12cm . AB—ijS 32em  DC= 4—4x3 2em | 2+2
:AB;DC :282‘12 - 2 HB=AB-DC=32-12= ZOcm 5
_Jop _ _ 5
AD=115° +18 =289 =17cm 5 B =21 +207 =841 =290 )
P =2x17 +40 = 74cm 2 P=29+44+21=9%cm
Totale| 93 Totale| 93




